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a0lz2Zz X 14,000 0 14,000
307 glz2+ol & 14,000 0 14,000
02 QIZtE M AHEE 7,000 0 7,000
Oaol=zda MR 7,000,000& 7,000
03 QIZtHNHE2HHEX 7,000 0 7,000
O&olz=zds 29X 7,000,000 7,000
dezd 0ges X& 14,500 0 14,500
307 21201 & 14,500 0 14,500
02 HAHFHANGEEE 7,500 0 7,500
Od==ZZ 0¥ AMSRA 7,500,000& 7,500
03 BIAHHEE2LHIEXS 7,000 0 7,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&JI=2 Aot NJ_HEH MPEX
5,000,000 5,000
ng =48 ¢ oA 1,205,026 1,533,470 N 328,444
= 150,501
Xl 137,366
< 28,104
Al 889,055
AU XA 1,205,026 1,533,470 N 328,444
= 150,501
Xl 137,366
< 28,104
Al 889,055
322 A 492,830 505,030 A 12,200
101 @14 Hl 486,030 486,030 0
04 JIZHHZ2XRHEES 486,030 486,030 0
O332=2 X 2AHl & 486,030,000 486,030
201 Let2d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
Oz&822 g=+=2s ¢ 5,000,000 5,000
202 04l 1,800 3,000 A 1,200
01 = LH 4 Hi 1,800 3,000 A 1,200
O332Z2 Mg =8| 1,800,000& 1,800
Az 2Xeldl Mgz 2N 30,000 20,000 10,000
S 3,000
Al 27,000
307 glz2tol & 30,000 20,000 10,000
< 3,000
Al 27,000
05 RIZHRI & 3 30,000 20,000 10,000
OAzZLXeldy HPgZz2d 29X
30,000, 000& 30,000
< 3,000
Al 27,000
AN LXeldE eldl K& 203,570 60,000 143,570
< 20,357
Al 183,213
101 @14 Hl 203,570 60,000 143,570
< 20,357
Al 183,213
03 RIAHAZZ2 T E+ 30,000 30,000 0
Ol dH &S A 124 30,000, 000& 30,000
< 3,000
Al 27,000
04 JI2ZtHZ22HEE = 173,570 30,000 143,570




2N

=
e
Pl

Crel AloithY Ke (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZXteldlel & A 1Al 173,570,000 173,570
< 17,357
Al 156,213
ZZ2AILIO (W) gXtel A 10,000 8,000 2,000
101 @124l 10,000 8,000 2,000
04 JI2ZtHZ22HEE = 10,000 8,000 2,000
OZZAILON oAbl 1,000,000 10& 10,000
NEESSH LAl At 151,034 159,730 A 8,696
Xl 75,517
Al 75,517
101 @14 Hl 134,034 142,730 A 8,696
Xl 67,017
Al 67,017
04 JIZHHZ2XREES 134,034 142,730 A 8,696
OXNGIZSHLReAY 1Al S
134,034,000 134,034
Xl 67,017
Al 67,017
201 £Br2%H| 2,000 2,000 0
Xl 1,000
Al 1,000
01 At 22/l 2,000 2,000 0
OANREBE S 2,000,000& 2,000
Xl 1,000
Al 1,000
202 oddl 5,000 5,000 0
Xl 2,500
Al 2,500
01 = LH o4 1l 5,000 5,000 0
OXNdEsHLAlALY =&0dl 5,000,000 5,000
X 2,500
Al 2,500
206 M= Hl 10,000 10,000 0
Xl 5,000
Al 5,000
01 =8l 10,000 10,000 0
OXNEZ2sdLXelAtE X bl 10,000,000& 10,000
Xl 5,000
Al 5,000
2XxeldEH 22 40,760 26,115 14,645
201 LBt2d| 37,760 23,100 14,660
01 At 2t 2l 13,400 14,700 1,300
OgRteldle Let+=EZH| 3,000,000& 3,000
OgXtelAtd &2l 5,000,000 5,000




2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OLX2IANMY 4A2F T (UATU OAT S)
50,000& 12& 600
OgielgE=a e dXE 400,000 «12& 4,800
02 =24l 21,960 6,000 15,960
OQLESKNEHALMH HAZ2H (8323 S
) 19,200, 000& 19,200
oOxgszdl S 1,920, 000& 1,920
O& =D 2eltl 840,000 840
03 A2 S HI 2,400 2,400 0
OMEH A 800,000 x33| 2,400
202 Od4dl 1,800 1,440 360
01 = LH 4 bl 1,800 1,440 360
OglteldlH FR=+0dH 1,800,000 1,800
301 et a sz 1,200 1,575 A 375
09 &AL HIZB &S 1,200 1,575 A 375
Ogitel 2 W= 39 ,&AF S 1,200,000& 1,200
M2 H DXl EE ALY 82,465 109, 888 AN 27,423
Xl 61,849
Al 20,616
307 gl2tol & 82,465 109, 888 AN 27,423
Xl 61,849
Al 20,616
11 ALS S XAEE = 82,465 109, 888 N27,423
OAMIAE LTt ESASE 82,465,000& 82,465
Xl 61,849
Al 20,616
A EDY Z2=2SHXJ A 22,145 502,485 A 480,340
= 15,501
= 997
Al 5,647
307 glz2tol & 22,145 502,485 A 480,340
= 15,501
< 997
Al 5,647
11T MRS EX 22,145 502,485 A 480,340
OAtg| &I =24 XJAE 22,145,000 22,145
= 15,501
< 997
Al 5,647
OISOl S & A Y 50,000 20,000 30,000
= 25,000
< 3,750
Al 21,250
307 21201 A 50,000 20,000 30,000




2N

=
e
PSS Y|

el AoitHM X @ (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 25,000
< 3,750
Al 21,250

11T M3 SXASEEX 50,000 20,000 30,000
oSl S4Xd=2 50,000,000 50,000
= 25,000
< 3,750
Al 21,250

AR EDIY FHAHS LAl ALY 122,222 122,222 0
= 110,000
Al 12,222

307 gl2tol & 122,222 122,222 0
= 110,000
Al 12,222

11T M SXASE EX 122,222 122,222 0

OA2I EIIY FHAAHS LIelAtS

122,222 ,000& 122,222
= 110,000
Al 12,222

S A 523t 477,164 450,719 26,445
= 23,487
Al 453,677

THASAN 25 &N 477,164 450,719 26,445
= 23,487
Al 453,677

NASAR 2 XA 5,756 9,724 A 3,968
= 2,878
Al 2,878

307 21201 A 5,756 9,724 A 3,968
= 2,878
Al 2,878

02 IAHFAAFE X 5,756 9,724 A 3,968
OXNJSAL Edg X3 14 5,756,000 5,756
= 2,878
Al 2,878

NESAEE ZEAAH 2H 443,608 396,249 47,359
= 20,609
Al 422,999

307 gl2tol & 443,608 396,249 47,359
= 20,609
Al 422,999

02 It M AHE L 167,868 396,249 A 228,381
ONEASALEEH AL XA 167,868,000 167,868
= 20,609
Al 147,259

03 BIAHHEE2LHIEXS 275,740 0 275,740




2N

FolMeEx A

HE: GRAZA 2SS
e ANFSAF 22 &M (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OX2SAHEEH 22X & 275,740,000 275,740
ANSEA 25 I 5,800 5,440 360
201 et 4,000 4,000 0
01 AP 2t 2] H| 4,000 4,000 0
OZ223 JASAN &2sX& 4,000,000& 4,000
202 o4 | 1,800 1,440 360
01 2L HI 1,800 1,440 360
OXNESAIEE =8| 1,800,000 1,800
=SSd REIZIEY N (HLAYE stsUed) 6,000 0 6,000
307 2izto| A 6,000 0 6,000
02 QIZ2FA AAIE E X 6,000 0 6,000
OFAH stEUHEZ AFEHl XI¥ 6,000,000 6,000
MBS ALS XIS (AFEO BERHLES D] AFY) 16,000 0 16,000
307 QI2t0| ™ 16,000 0 16,000
02 AI2tAMAIE E =X 16,000 0 16,000
OAMEOl BERILISD| AFEHl X &
16,000,000& 16,000
HHSHAG| (FOIME T RAA) 169,742 150, 387 19,355
= 44,000
& 15,950
Al 109,792
ClHERIH|( 2 2HII2EESIH) 92,782 80,507 12,275
= 44,000
& 15,950
Al 32,832
AHOIAHHI (2 SHIISELSIH) 55,000 55,000 0
= 44,000
& 7,700
Al 3,300
101 Q121 H] 55,000 55,000 0
= 44,000
& 7,700
Al 3,300
03 RIAHL*ZZ2XHE S 55,000 55,000 0
O z20 22| Aol 48] 55,000,000 55,000
= 44,000
= 7,700
Al 3,300
XNEOIAHH| (I HL22 ) 10,282 10,107 175
101 e1214| 10,282 10,107 175
03 2INHAZ2ZXNHE = 10,282 10,107 175
O sz &2lAt = 10,282
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SN FOIMBIHA
HH: HHSYAL (FUAMBIAAY)
el lHE2HH (A= S0HISSESA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- SE F I 1,077,330& »2H »23| 4,310
- dHgAlY| 80,0003 x2H 1204 & 1,920
- WESE x| 60,000 x2H * 124 & 1,440
- AXRER/IH=TE 82,5603 «2H 10 1,652
- EsE 80,000 x1Z « 1204 & 960
AFolHH (A=A H &2 X&) 27,500 15,400 12,100
< 8,250
Al 19,250
101 124 dl 27,500 15,400 12,100
< 8,250
Al 19,250
04 JI2ZtHZ22 a2+ 27,500 15,400 12,100
Oz g2l Al el 27,500,000& 27,500
< 8,250
Al 19,250
Jl2ZH(FUMET & A) 76,960 69,880 7,080
JI2ZHI (UM A) 76,960 69,880 7,080
201 Let24d] 19,000 17,800 1,200
01 At 2teltl 19,000 17,800 1,200
ORNM2IAMRZEI(ZS) 19,000,000 19,000
202 Odl 53,760 46,080 7,680
01 = LH 4 bl 53,760 46,080 7,680
OJl2ge==8ntl(28Y) 53,760,000 53,760
203 &R =T Y| 4,200 6,000 A 1,800
04 FN2IELSF=TH 4,200 3,360 840
ORMSIYRF2dI(302!015t)
350,000& 128 4,200




